HW: Page 474:

In Problems 19-98, establish each identity.

L9 cscHecost = cotd

22
25,
28.
31.
34,
37.

40.

I + cot’(—8) = csc’#

tan i cot i — cos® u = sin® u

{csct — 1) (cscd + 1) = cot®d

cos’H(1 + tan® @) = 1

tan’ @ cos’ # + cot’ Asin’ 8 = 1
cos i

secu —tany = ——
1 +sinu

Osec’d — Stan”# =35 + 4sec’ d

\

19, 23-35 odd, 41

secH+sinf = tan f

sin u cscu — cos” u = sin®

(secH + tan#)(secH — tanf) = 1
(1 —cos’f)(1 +cot’d) =1
sect® —sec’d = tan* @ + tan" B

. CSCu —cotu =

cos” #
1 + sin#

. cosH{tand + cot ) = csc

sin u

I + cosu

= sin #

\

21, 1+ tan’(—6) = sec’d

24, sinf(cotd + tan#) = secH

27, (secf — 1)(secd + 1) = tan’ #
30. (cscH + cotd)(csct — cotf) =1
33.

36. csct# — ese? B = cot* 4 + cot’ A
39. 3sin”# + dcos’# =3 + cos’d
42. 1 _Iimic_:w‘i = —cos

(sin# + cos#)” + (sin# — cos #)? =

2



